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0414 {RIRET < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.002 |< 0.0002{< 0.0002{< 0.0004]
0513 {RIRET < 0.0003] <0.1 |]<0.005| <0.01 | <0.005 |< 0.0005 < 0.002 |< 0.0002]|< 0.0002|< 0.0004'
0514 {RIRET < 0.0003] <0.1 ]<0.005] <0.01 | <0.005 |< 0.0005 < 0.002 |< 0.0002]|< 0.0002|< 0.0004'
0615 {RIRET < 0.0003] <0.1 ]<0.005] <0.01 | <0.005 |< 0.0005 < 0.002 |< 0.0002]|< 0.0002|< 0.0004'
2114 $EEpTH < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.002 |< 0.0002|< 0.0002|< 0.0004'
2410 ERIL T < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.002 |< 0.0002|< 0.0002|< 0.0004'
2517 HEFHEET < 0.0003] <0.1 |]<0.005| <0.01 | <0.005 |< 0.0005 < 0.002 |< 0.0002|< 0.0002|< 0.0004'
3018 HEFHKET < 0.0003] <0.1 ]<0.005] <0.01 | <0.005 |< 0.0005 < 0.002 |< 0.0002|< 0.0002|< 0.0004'
3027 HETH < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.0005| < 0.002 |< 0.0002|< 0.0002|< 0.0004'
5035 GER < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.002 |< 0.0002|< 0.0002|< 0.0004'
5036 GER < 0.0003] <0.1 ]<0.005] <0.01 | <0.005 |< 0.0005 < 0.002 |< 0.0002]|< 0.0002|< 0.0004'
5643 HETH < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.0005| < 0.002 |< 0.0002|< 0.0002|< 0.0004'
i 5742 HETH < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.0005| < 0.002 |< 0.0002|< 0.0002|< 0.0004'
P 5743 &R < 0.0003] <0.1 ]<0.005] <0.01 | <0.005 |< 0.0005 < 0.0005| < 0.002 |< 0.0002|< 0.0002|< 0.0004'
EE] 5744 HETH < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.0005| < 0.002 |< 0.0002|< 0.0002|< 0.0004'
' 5842 HETH < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.0005| < 0.002 |< 0.0002|< 0.0002|< 0.0004'
5940 HETH < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.0005| < 0.002 |< 0.0002|< 0.0002|< 0.0004'
5942 HETH < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.0005| < 0.002 |< 0.0002|< 0.0002|< 0.0004'
6040 HETH < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.0005| < 0.002 |< 0.0002|< 0.0002|< 0.0004'
6043 HETH < 0.0003] <0.1 ]<0.005] <0.01 | <0.005 |< 0.0005 < 0.0005| < 0.002 |< 0.0002|< 0.0002|< 0.0004'
6142 HETH < 0.0003] <0.1 |]<0.005] <0.01 | <0.005 |< 0.0005 < 0.0005| < 0.002 |< 0.0002|< 0.0002|< 0.0004'
6144 R < 0.0003] <0.1 | <0.005f <0.01 ] <0.005]< 0.0005 < 0.0005] < 0.002 |< 0.0002|< 0.0002f< 0.0004'
6240 ERERET < 0.0003] <0.1 | <0.005f <0.01 ] <0.005]< 0.0005 < 0.002 |< 0.0002]< 0.0002|< 0.0004'
6243 AT < 0.0003] <0.1 | <0.005| <0.01 ] <0.005]< 0.0005 < 0.0005] < 0.002 |< 0.0002|< 0.0002f< 0.0004'
6341 R < 0.0003] <0.1 | <0.005| <0.01 ] <0.005]< 0.0005 < 0.0005] < 0.002 |< 0.0002] 0.0007 |< 0.0004'
6544 AT < 0.0003] <0.1 | <0.005| <0.01 ] <0.005]< 0.0005 < 0.002 |< 0.0002]< 0.0002|< 0.0004'
6742 J\t&m < 0.0003] <0.1 | <0.005f <0.01 ] <0.005]< 0.0005 < 0.0005] < 0.002 |< 0.0002|< 0.0002f< 0.0004'
6742 J\t&m < 0.0003] <0.1 |<0.005| <0.01 | <0.005]|<0.0005 < 0.002 |< 0.0002|< 0.0002|< 0.0004|
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0414 {RIR AT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006] < 0.001] < 0.001 )< 0.0002f{< 0.0006/< 0.0003| < 0.002
0513 {RIR AT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006] < 0.001] < 0.001}< 0.0002f{< 0.0006/< 0.0003| < 0.002
0514 {RIR AT < 0.01 | <0.004]<0.002]<0.002f] <0.1 |<0.0006f < 0.001] < 0.001}< 0.0002f{< 0.0006/< 0.0003| < 0.002
0615 {RARAT < 0.01 | <0.004]<0.002]<0.002f] <0.1 |<0.0006f< 0.001] < 0.001 )< 0.0002f{< 0.0006/< 0.0003| < 0.002
2114 BT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006] < 0.001] < 0.001 )< 0.0002f{< 0.0006/< 0.0003| < 0.002
2410 BT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006] < 0.001] < 0.001 )< 0.0002f< 0.0006/< 0.0003| < 0.002
2517 AT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006] < 0.001] < 0.001 )< 0.0002f{< 0.0006/< 0.0003| < 0.002
3018 AT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006] < 0.001] < 0.001 )< 0.0002f{< 0.0006/< 0.0003| < 0.002
3027 AT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006f < 0.001] < 0.001 )< 0.0002f< 0.0006/< 0.0003| < 0.002
5035 FEAT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006f< 0.001] < 0.001}< 0.0002f< 0.0006/< 0.0003| < 0.002
5036 FEAT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006] < 0.001] < 0.001 )< 0.0002f< 0.0006/< 0.0003| < 0.002
5643 = < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006] <0.001] < 0.001
i 5742 AT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006f < 0.001] 0.002
P 5743 AT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006f < 0.001] < 0.001 )< 0.0002f< 0.0006/< 0.0003| < 0.002
b 5744 = < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006] <0.001] < 0.001
& 5842 AT < 0.01 | <0.004]<0.002]<0.002f <0.1 }<0.0006/ < 0.001] 0.006
5940 AT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006/<0.001] 0.007
5942 AT < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006f<0.001] 0.001 }< 0.0002f{< 0.0006/< 0.0003| < 0.002
6040 = < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006] <0.001] < 0.001
6043 = < 0.01 | <0.004]<0.002]<0.002f <0.1 |<0.0006] <0.001] < 0.001
6142 AT < 0.01 ] <0.004]<0.002]<0.002f <0.1 |<0.0006] 0.002 0.001
6144 gl < 0.01 1<0.004]<0.002]<0.002f <0.1 ]<0.0006] <0.001]<0.001
6240 EREZRH < 0.01 1<0.004]<0.002]<0.002f <0.1 }<0.0006] < 0.001] <0.001}< 0.0002f< 0.0006/< 0.0003| < 0.002
6243 gl < 0.01 1<0.004]<0.002]<0.002f <0.1 ]<0.0006] <0.001]<0.001
6341 kil <0.01 0.004 | <0.002]<0.002] <0.1 ]<0.0006] <0.001f<0.001
6544 FETH <0.01 1<0.004]<0.002]<0.002f <0.1 }<0.0006] <0.001] 0.003 < 0.0002f< 0.0006/< 0.0003| < 0.002
6742 J\tEH <0.01 1<0.004]<0.002]<0.002f <0.1 }<0.0006] < 0.001] <0.001}< 0.0002f< 0.0006/< 0.0003| < 0.002
6742 J\t&H < 0.01 | <0.004]<0.002]<0.002f] <0.1 |<0.0006] <0.001] < 0.001}< 0.0002f{< 0.0006{< 0.0003| < 0.002
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0414 {FRHET <0.001]<0002] 071 | 070 [ <001 ] <008 <0.1 |<0.005

0513 {FRHET <0.001]<0002| 031 | 030 | <o001] <008 <0.1 |<0.005

0514 {FRHET <0.001]<0002] 011 | 010 | <o001] <008 | <0.1 |<0.005

0615 {FHRET <0.001]<0002| 004 | 003 [ <o001] <008 <0.1 |<0.005

2114 el <0.001]<0002| 031 | 030 | <o001] <008 <0.1 |<0.005

2410 ‘s 1< 0001 [<0002| 26 26 | <001 | <008]| 01 [<0.005

2517 =ARET 1< 0001 [ <0002 1.1 11 | <001 | <008 | <o0.1 [<o0.005

3018 =i%Er | <0.001]<0002| 009 | 008 [ <o001] <008| <01 |<0.005

3027 T <0.001]<0002| 18 18 | <001 | <008 | <o0.1 [<o0.005

5035 T <0.001]<0002] 072 | 071 | <o001] <008 | <0.1 |<0.005

5036 T <0.001]<0002| 1.1 11 | <001 | o010 | <01 [<o0.005

5643 T <0.001]<0002| 066 | 065 | 001 | <008 | <0.1 |<0.005

m | 5742 T <0.001]<0002| 45 45 | <001 | <008]| <01 |<0.005

w | 5743 =T <0.001]<0002| 13 13 | <001 | <008 | <o0.1 [<o0.005

| 5744 =T <0001]<0002] 42 42 | <001 ] 008 | <01 |<o0.005

& [Toea2 T <0.001]<0002| 56 56 | <001 ] <008 | <01 |<0.005

5940 T <0.001]<0002| 17 17 | <001 | <008 | <o0.1 [<0.005

5942 T < 0.001] <0.002| <002 | <001 | <001 ] 015 | <01 |<0.005

6040 T <0.001]<0002| 095 | 094 [ <001 ]| 014 [ <01 |<0.005

6043 T <0.001]<0002| 1.1 11 | <001 | <008 | <o0.1 [<o0.005

6142 T <0.001]<0002| 056 | 055 | <0.01] <008| 01 |<0.005

6144 R <0.001[<0.002] <002 | <001 ]| <001 | <008 | <0.1 |<0.005

6240 Emmzmm ]<0.001]<0002f 29 29 | <001 | <008]| <01 |<0.005

6243 R <0.001[<0002]| 6.1 61 | <001 ] <008 | <01 |<0.005

6341 R <0.001[<0.002] <002 | <001 ]| <001 | <008 | <0.1 |<0.005

6544 FETH <0.001]<0002]| 27 2.7 <001 ] <008 | <0.1 |<0.005

6742 J\ETH <0.001[<0.002] <002 | <001 ] <001 | 009 | <0.1 |<0.005

6742 J\iETH <0001 [<0002] 005 | 004 | <001 | <008] <01 |<0.005
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